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1. The value of33 X 27 is
(i) 889 (ii) 892 (iii) 894 (iv) 890 (v) 891

2. The value of(—4v) X(=9Vv)is

(i) 34v2 (i) 37v% (iii) 35v2 (iv) 36V2 (v) 39,2

3. The value of (452 t—752—4t2 +6¢t) +(7s%t+452—3t2-2¢)is
(i) (1152t—352—782+4¢t) (i) (1182t—52—-T2+4¢) (i) (1052t—352—-T2 +4¢)

(iv) (118%t-552—-T7£2+4¢t) (v) (125%t-35%2—7t2 +4t)

4. The sum of theterms3,(—4),8,4h,(—3)is
(i) (4h+4) (ii) (3h+4) (iii) (4h+6) (iv) (5h+4) (v) (4h+2)
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5. (a—-b)

(i) (a2+b2%) (i) (a2=5ab+b2) (i) (=2ab+b?%) (iv) (a2—-2ab+b%) (v) (2a%2—2ab+b?)

2
6. (a+b)

(i) (a%2—ab+b2) (i) (2a2+2ab+b?) (i) (a2+2ab+b%) (iv) (a2+5ab+b2) (v) (2ab+b?)

7. Which of the following is a like term of(—4qrp2) ?

() (=pg?r) (i) 7p2q?r (i) 9pgr? (iv) 2p%gr (v) par
8. The value of8f2g2+(—f2g2)+f292+(—f292)is

(i) 92g2 (ii) 4Pg% (i) 8Rg% (iv) 6RPg% (v) TR g2

9. The value of (=752 +1) X (r2s+9/%)is
(i) (=8r%s3-63r2s2+r%5+972%) (i) (—=7r2s3-60r%s%+r25+972) (i) (=653 —63r%s%2+~25+972)

(iv) (—7r253—65/252+/25+9r2) (v) (—7/253—63r252+/25+9/2)

10. Which of the following terms can be added to(—6edf2) ?

(i) 6defr (i) 3d%e2F (iii) (-60%ef) (iv) de?’f (v) (-=5d%ef)



. Which of the following terms can be added to7k?

(i) (=5&3) (i) (=9) (i) & (iv) (=94&2) (v) 7K*
. The value of(—4e3) —(=5e3)is

() 0 (i) 4€3 (i) €3 (iv) 23 (v) (=2&3)

. The value of(824+4z—3)—(—625+z4—6z3)—(4z4+82+8)is
(i) (62°2+32%+65-42-11) (ii) (822 +34+63-42-11) (i) (722 +324+63-42-11)

(iv) (522+32%4463-42-11) (v) (422 +34+63-42-11)

. The value of (32 —=5F—8) — (=2 —2F+3)is

(i) (7R =3F=11) (ii) (5P =3F=11) (i) (4R -3F=11) (iv) (6 =3Ff-11) (v) (2R —-3F-11)

. The value ofd X d X dis

() 0 (i) 263 (i) 36® (iv) & (v) (-20°)

. Which of the following terms can be added to ¢ ?

(i) 3c (i) 6c2d%€? (i) (-3cd?) (iv) (-d%e) (v) (—-8e)

. Which of the following algebraic expressions is a monomial?

(i) (6k2PM—6K2Pm2+5kPm+9Pm) (i) (8k32m3+3k2) (i) K2Im3
(iv) (—8k3P+3K2Pm2+k2=5kI%) (V) (=3K3m3—kPm?+712m3)

. Which of the following terms can be subtracted from(—6y222x2) ?

(i) 2x2)222 (ii) (=5x%yZ%) (i) TxyZ2 (iv) (—4x%y22) (v) 2x%yz

. Which of the following algebraic expressions is a zero polynomial?

(i) (9n%0p3+2n20p—3no—n) (i) 0 (i) (4n3p2+8) (iv) (6303 +403p3=5p) (v) 5nop?

The value of =qr + ~qri
. e value o 2q 2q IS
(i) 3qr (i) 0 (iii) 2qr (iv) qr (v) (—gqr)

. Which of the following algebraic expressions is a constant polynomial?

(i) (=34) (i) (A+97) (i) (=9”P=4i-2) (iv) (=9) (v) (74-33-572-8/i-2)
. The value of-4t3—lt3 is
5 2

3 1 3 1 1
; f3 . f3 t3 ; f3 t3
(i) 10 (ii) 3 (iii) 5 (iv) 10 (v) 4



23. The product of the terms(—¢),3u,(=2tu),5,(=3)is

(i) (=89£2u2) (ii) (=90£2u?) (iii) (=87£2u2) (iv) (=91£2u%) (v) (=934 u2)
24. The value of (—2wx+6w) X(2x—9)is
(i) (—4wx?+30wx—54w) (i) (=3wx?+30wx—54w) (i) (—4wx%+33wx—54w)

(iv) (—5WX2+30WX—54W) (v) (—4WX2+27WX—54W)

2 1
25. The value of -5 ——5sis
3 5

(i) '15 (i) '35 (iii) 75 (iv) 75 (v) 75
) g5 (i) o5 (i) o5 (V) o5 (v) o



Assignment Key

1) (v) 2) (iv) 3) (i) 4) (i) 5) (iv) 6) (iii)
7) (iv) 8) (v) 9) (v) 10) (i) 11) (iii) 12) (iii)
13) (i) 14) (ii) 15) (iv) 16) (i) 17) (iii) 18) (i)
19) (ii) 20) (iv) 21) (iv) 22) (i) 23) (ii) 24) (i)
25) (v)
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